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. Let {z} be the fractional part of z. Then lim n / {z}"dz is:
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Let f: RoR, f(z) = 2% + az , where a is a real parameter.

1 ruoyis 1+a . 1—a (D)1 0
The graph of f is tangent to Ox axis if:

a=2 a=—1 azl @azo a:3

8 For a = —3 the number of local extremum points of the function g(z) = |f(z)|,z € R, is:

@l B [8)s B 3 (E]s
2 Fora=1, 7y @)is: (A) 1/2 Bleid @i n D (B

Consider the point A(0, —1), the lines d;: z —y + 1 = 0, da: 22 — y = 0 and the points B € d;, C' € d,, such
that d; and dy are medians of the triangle ABC'.

10 The intersection of the lines d; and d5 has the coordinates:

(-1,2) (2,3) w2 D) (-1,0 (—;—1)

11

7

The point B has the coordinates:

(3,6) (0,1) (L2) (D) L0) (-2,-1)
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- Consider the points A(2, 3) and B(4, 5). The perpendicular bisector of the segment [AB] has the
equation:

29:—y:2 2z +y =10 x+2y-——11 @ —z+y=1 a:+y=7

Consider the polynomial P = X% + X1 4+ X3 4 2, with roots 1, z, Z3, . . . , Z39. Denote by R the remainder
of the division of P by X3 + X.
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Consider the matrix A = ( B ) and let A" = < R R ), s, NiiDenote Oy = ( U ) and

1 it U 0540
14510

16] 4 a2is A=tin i e (Bl Ay
L8 B 0, 2121, 241, (D) 2184 947,
13 I%ngyzO is: 16 ) g (D 1

Tg + Yg

11.2. The pair (a,b) € R?such that lim (Vz2+z+ 1+ V2242242 —az —b) =0is:

T—¥-500

(23) (-2,-1) (-2,-2) (@) (2,-2) (—27—‘3‘)

E li_r)%e%sinx is: does not exist 0 00 @ =0 1

21 . 3 o
Consider the sequence with positive terms (an)n>0, a0 = 1, a1 = a, al,; = a2an_1, n > 1. The

value of a for which lim a, = 8 is:
n—-00

(A 2 =B 1e le)is (D)3 B s
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Consider the equation: cos® z - sin z — sin

22

z-cosz=m,m e R.

The equation has the solution z = g for:

m:£ m:1 m:O @m:——l m:_l

4

23

The equation has solution if and only if m belongs to the interval:

1,1 4,4 EHRCIE : 2,

B 24
24] 5 e (m,27) and cos z = g hen sin z is:
D ®! @ ®: ®-°
220 oleb— oand 1g6 = b, then log, 2 is:

ja_ i) e = 5 g i (E) 1

—a
a+b+1 a—b+1 a+b-+1 a+b—1 b—1

26

If z,y € Rsatisfy 21g (z — 2y) = lgz + lgy, then the set of all values of is:

)
{4) {1} (1,44 (D) {1,249 0

. Ifac C\R, o® =1, then (1+a)(1+a?)(l+a®)(1+a?)(1+a®)(1+ab)is:

@er Blo @6 B H

2zy + 3(z +y) + 2
3zy +2(x +vy) +3

28 The neutral element of * is: 0 % —g @ é _%

27 If the function f : (—1,1) — (0,00), f(z) = a,i ;z satisfies f(z *xy) = f(z)f(v),

Vz,y € (—1,1), then a is:
2
1 @ O D! ©-1

5
30 The number of solutions of the equation T * T * ... * L= — is:

~~ 10
10 times z T

On (—1, 1) define the operation * by z x y = ,z,y € (=1,1).

2 0 izt B 10 5 fme TN







